N & 0l & AF & F Al A

20098 &= =0l &F ekl A

AN A&
M HEHH =3t
ol AL ADEZ (o e
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
Pag=ml} 22,733,227 20,515,454 2,217,773
= 996,400
g 8,826, 148
== 255,948
o 12,654,731
A48y S35 434,412 496,969 N62,557
AL HRFX 434,412 496,969 ANB2,557
NH2S MR (LH) EX € SN2 416,000 479,646 A\B3,646
201 LEt2AY| 336,000 339,646 N 3,646
02 22294 336,000 339,646 A3,646
O Jtzs &= 5,100 * 5,000& * 123 306,000
O Jt2s 224l 30,000& = 1,000 30,000
203 P R=A&H| 15,000 15,000 0
03 AIMF=RHFF=EH| 15,000 15,000 0
O HEHRFX AHGRF=AH| 15,000,000& * 14 15,000
401 AlEHI L] 65,000 125,000 260,000
01 Al&H| 65,000 125,000 60,000
O L2I)Es WA & AREX 650,000& * 100 65,000
NEE, 25, sHEZZ WSE A 4,200 4,200 0
101 ol 2iH| 2,880 4,200 A 1,320
10 JI2ZtHIZ22XANsSE 2,880 4,200 A1,320
O WSETA 21FE 70,000& = 36Y 2,520




SA e
Mo ALHE +
CHol AMME 2Rz el H )
= A CCHRI(EI) - HRAY - A Aol e =2t
WS ST AL 24 10,000& * 369 360
201 gtE | 1,320 0 1,320
At 2hell 1,320 0 1,320
chItE MZ 66,0002 * 10JH 2 660
2t S MZE 27,5002 * 2404 660
A oL BAHEF 14,212 13,123 1,089
101 21| 14,212 13,123 1,089
ZHHIZ22 NS E 14,212 13,123 1,089
O EXZae=2e 14,212
== 32,9803 * 19 » 2509 8,245
= 8,245,000& * 4/12& 2,749
Al 2H2l =G 4,705 * 198 » 12A12F = 123 678
SE X 32,9803 » 1H * 25 825
F=5=¢ 32,9803 * 52 1,715
Mol X TH 101,036 119,735 A 18,699
= 5,322
= 10,200
= 85,514
Hord =) 101,036 119,735 A 18,699
= 5,322
= 10,200
2 85,514
M- S &8s 29 34,012 59,492 A 25,480




S AL

2 ol & THE o
el et 2535t (el =
- _ _ HUE &
SA-EH-SRABA) - NEAMNY - BES Off &F K lOﬂ/l\_Fgﬁ HwsZ

201 et 34,012 29,492 4,520
01 AtR2cibl 22,978 11,758 11,220

O NoSegaad gy 30,000& » 2 10 600

O HoSegaad =44 30,000& » 2% * 3652 21,900

O MeSeaes 240ldd & ERF7Y 478,000& * 14 478
02 3323l 11,034 17,734 A6,700

O fIdESAIERZ 198,000& = 128 2,376

O MSEs2ALAE MFAES 121,000& = 128 1,452

O MoHSXAIASE HSAIEE 25,0008 » 128 300

O MHSXAIAE HIIAER 58,060& * 404 = 123 2,787

O LBHESIAIE = (584 ) 150,000& = 12 1,800

O MolSMHAAYE HEH AIER 193,250 * 12 2,319
M THo et& 2] 29 17,380 14,380 3,000
201 el 8,020 8,020 0
01 At22teld 8,020 8,020 0

O ot AE I+ MA 20,000& = 100 2,000

O MHE=ASH =L M MEH 10,000& * 150& 1,500

O MHMEEE=S M= 2,000& = 840% 1,680

O METHlSSEHHE RS +H 70,0008 = 6H = 23 840

O XNtN2Re HA+E 70,0008 = 6H = 23 840

O MuMsha e fo(Daex) 58,000& » 20= 1,160
202 Oddl 2,400 0 2,400
01 =LHOIHI 2,400 0 2,400
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Ok
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100
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7,000

o
[und
o
[uind

40,000
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20,000
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50,000& » 4H
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gIzrol ™

307

no
KA
H

30
0B

.

ol

o

10
o

.

~J

ol

5,000,000& * 1JH A

(=4l)

2|

=

g XE

4 2

240

2,660

10 JIZ2N22HsE+




S AL

2 THoH ¥ Tt ol
SR THOHN S 23 (et &S
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
O MUFLIIP tMEA L HH| QIR 20,000 * 145 = 1Y 2,900
= 1,450
= 1,450
201 LEt2AY| 5,744 5,280 464
= 2,872
iy 2,872
01 AtR2t2ld] 5,744 5,280 464
O MUFAIIP HMEA L AHH| 39,600& * 145.0500=+ 5,744
= 2,872
= 2,872
MHES otd st=2 & (=2d]) 2,000 2,000 0
= 1,000
iy 1,000
201 LEt2HAH| 2,000 2,000 0
= 1,000
iy 1,000
01 AtR2t2ldl 2,000 2,000 0
O MuHiisetdst==& 2,000,000& = 13 2,000
= 1,000
= 1,000
Mol HABAIE X2l (=) 8,000 8,000 0
== 4,000




S AL
S ol & TH: ol
el et 2535t (

chol H )
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
Mol AFEAIE X2l (=) o 4,000
201 LBt2AH| 8,000 8,000 0
== 4,000
o 4,000
02 =329l 8,000 8,000 0
O oW B EAAD KX 22| 8,000,000& * 14 8,000
= 4,000
= 4,000
N REREs KA (XH]) 17,000 13,923 3,077
& 1,700
o 15,300
201 LBt2AH| 17,000 13,923 3,077
& 1,700
o 15,300
01 ArR2t2|tl 17,000 0 17,000
O HMZ2s2sAS 17,000,000& * 14 17,000
o= 1,700
= 15,300
222 DHM(=H|) 9,000 9,000 0
= 4,500
o 4,500
405 RHabFESHI 9,000 9,000 0




S AL
S ol & TH: ol
e Mt 225 (

EHel )
SA B SA(SH) - MBAY - BES 0 &2 e ==l
405 XtobE SHI s 4,500
= 4,500
01 ML SEFHSHI 9,000 9,000 0
O 2RI WA 9,000,000& = 102 9,000
S 4,500
s 4,500
sg3dH L3t 5,271,310 8,373,073 3,101,763
s 2,727,148
S 154,693
= 2,389,469
HH == JH & AFS 1,163,000 2,334,698 A1,171,698
= 76,000
= 1,087,000
2o == =2 JHISA 40,000 30,000 10,000
401 AlEHIZ=201Y] 40,000 30,000 10,000
01 Al&H| 39,568 30,000 9,568
O 24 =1 =2 ZUIS A AIZHI 39,568,000 = 14! 39,568
03 A& =20 432 0 432
O 2t =1 =2 FUIS A AIE SR 40,000,000& = 1.08/100 432
38 A= =2 HHISA 30,000 60,000 A 30,000
401 AEHIZ =201 30,000 60,000 230,000
01 Al&H| 29,676 60,000 A30,324
O 38 A2 == HUIS A AIZHI 29,676,000& = 14! 29,676
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SN 2AED
B soAMAYs
£9]: 200 & ALSS CELR-ED
SA-FB L SA(3) - MEAY - BLS 0 &2 e B2
03 AIZ=0ibI 324 0 324
O 3l& A= =2 HUIS A AIE 20 30,000,000& = 1.08/100 324
S22 FE23H(ZHl) 152,000 152,000 0
< 76,000
= 76,000
401 AlEHIL 204 152,000 152,000 0
= 76,000
= 76,000
01 AI&HI 150,632 150,906 A274
O &2 FXS3MY 150,632,000& * 14! 150,632
< 74,632
[ia 76,000
03 A4S0 1,368 1,094 274
O &2 IXS3HAY AIER2UbI 152,000,000 * 0.9/100 1,368
S 1,368
2/ & CHel Bi== ZHIS At 30,000 0 30,000
401 Al HI LS OHHI 30,000 0 30,000
01 AI&HI 29,676 0 29,676
O 2/&l el =2 HEISA Al&H] 29,676,000 = 14 29,676
03 A4S0 324 0 324
O & el =2 ZHIZ A AIE S 30,000,000& = 1.08/100 324
& Ga B2 HHISA 50,000 0 50,000
401 Al HI LS OHHI 50,000 0 50,000




A A4
HH: solHmAAs
Sl B ==IH S A (e
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
01 Al&HI 49,460 0 49,460
O 317 St 42 HHIZA Al 49,460,0008 * 1Al 49,460
03 Al&=CHYI 540 0 540
O /& Gt Bf=2 ZHIS A Al R0 50,000,000& = 1.08/100 540
FE JH17 E=2 HHISA 20,000 0 20,000
401 AlEHIZL204YI 20,000 0 20,000
01 Al&HI 20,000 0 20,000
O &5 g8172 82 ZHI3A Al&ZHI 100,000 * 200m 20,000
s A=0l2 =2 EHISA 20,000 0 20,000
401 AlEHIL 204G 20,000 0 20,000
01 Al&HI 20,000 0 20,000
O &5 A0t =2 ZHIS3AL AI&ZHI 200,000& * 100m 20,000
ZE B E2 ZHISA 20,000 0 20,000
401 AlEHIZ 20| 20,000 0 20,000
01 Al&HI 20,000 0 20,000
O ¥ 4% 242 FUISA AI&HI 100,000 = 200m 20,000
FE A1 EZ HHISA 20,000 0 20,000
401 AlEHIZ 2] 20,000 0 20,000
01 Al&HI 20,000 0 20,000
O &5 d317 82 ZHISA Al&ZH] 100,000& = 200m 20,000
dE AEE E+2 ZHISA 50,000 0 50,000
401 AlEHIZ 2 0HY] 50,000 0 50,000




2M: A8
HE: sARMHAG
Sl B ==IH S A CEREE
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
01 Al&HI 49,460 0 49,460
O &5 XFE 22 FHISA A& 49,460,000 * 14l 49,460
03 A& 540 0 540
O g XFE E+Z ZHIZ A AL 50,000,000& = 1.08/100 540
2o SE3F =2 ZHISA 26,000 0 26,000
401 AlEHIZL204YI 26,000 0 26,000
01 Al&HI 26,000 0 26,000
O 2teh SE3F =2 FHIZSAF Al 100,000& * 260m 26,000
2o BEOIS E2 ZHISA 40,000 0 40,000
401 AlEHIL 204G 40,000 0 40,000
01 Al&HI 39,568 0 39,568
O 2tgh HEOS 2 FHISAL Al&H] 39,568,000 * 14 39,568
03 A= 432 0 432
O 2t HENES 2 HIZS A AIE R0 40,000,000& = 1.08/100 432
HE A =2 ZHHISA 30,000 0 30,000
401 AlEHIZL 204 30,000 0 30,000
01 Al&HI 30,000 0 30,000
O e T A th==2 HUIS A Al&HI 150,000& * 200m 30,000
e JE0tS =2 HUISAt 20,000 0 20,000
401 A& HIL 204G 20,000 0 20,000
01 Al&HI 20,000 0 20,000
O e FL0tS =2 HHISAL Al&H] 100,000& * 200m 20,000
EM 32 EZ HHISAM 30,000 0 30,000
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A A4
HH: solHmAAs
Sl B ==IH S A (ctel &
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
401 AlEHIYL204bI 30,000 0 30,000
01 Al£HI 30,000 0 30,000
O 84 33 22 FUISA AI&H| 100,000& = 300m 30,000
M4 L sHSF =2 EUHISA 30,000 0 30,000
401 Al&EHIL 2040l 30,000 0 30,000
01 Al£HI 30,000 0 30,000
O 84 32 sUHF =2 EUIS AL AlEH| 100,000& = 300m 30,000
4o g~ 2 =2 JUISA 40,000 0 40,000
401 Al&EHIL 2Bl 40,000 0 40,000
01 Al&H| 39,568 0 39,568
O &k o1~ X 2t =5 HHIS A Al&H| 39,568,000 * 14 39,568
03 Al£=C0HYI 432 0 432
O 4t 1~ X2t B2 HBIS A AIE SR 40,000,000 * 1.08/100 432
otk GHE =2 FHIBA 35,000 0 35,000
401 Al&EHIL 2048 35,000 0 35,000
01 Al£HI 35,000 0 35,000
O ot i 222 FUIS A Al&H| 100,000& = 350m 35,000
O DIADLE B2 FHIS AL 20,000 0 20,000
401 Al&EHIL 2Bl 20,000 0 20,000
01 Al&H| 20,000 0 20,000
O &+ JI40E =2 ZHIZ AL A& HI 100,000& = 200m 20,000
s 8cl 252 ZHI3AM 30,000 0 30,000
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A A4
HH: solHmAAs
Sl B ==IH S A (el &)
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
401 AlEHIYL204bI 30,000 0 30,000
01 Al£HI 30,000 0 30,000
O &= 2cl 22 FUISA Al&H| 100,000& = 300m 30,000
3= &g 252 ZHIBAM 40,000 0 40,000
401 Al&EHIL 2040l 40,000 0 40,000
01 Al£HI 39,568 0 39,568
O &= ¥ 22 FUISA Al&H| 39,568,000 * 14 39,568
03 AlZ=C0HYI 432 0 432
O &3 &8 2 FHISA AIE20HY] 40,000,000 = 1.08/100 432
g 220t =2 JHISA 35,000 0 35,000
401 Al&EHIL 208 35,000 0 35,000
01 Al£HI 35,000 0 35,000
O &s Z220t= =2 ZHISA AlIEHI 100,000& = 350m 35,000
Y WAMZ = JUISA 60,000 0 60,000
401 Al&EHIL 2048 60,000 0 60,000
01 Al£HI 59,352 0 59,352
O &% ¥WdZE 8242 HUI3 At AIEHI 59,352,000& * 14 59,352
03 AlZ=CHYI 648 0 648
O &% WMz 242 JUISA AIESR0HI 60,000,000& = 1.08/100 648
FE Hd¥1P =2 ZHISA 100,000 0 100,000
401 Al&EHIYL204bI 100,000 0 100,000
01 Al£HI 99,100 0 99,100
O &8 dF3172 =2 ZBISA AlZH| 99,100,000& * 14l 99, 100
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A AL
HH: solHmAAs
CHol: b0 & ALY (chel m g
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
03 A4S0 900 0 900
O &8 dF17 =2 ZHISAL AIZ20Y| 100,000,000& * 0.9/100 900
8 M =7 E+2 ZUHISM 50,000 0 50,000
401 AlEHIL 204 50,000 0 50,000
01 AI&HI 49,460 0 49,460
O 8 H& 57 =2 JUISAL AIEHI 49,460,000 * 14l 49,460
03 A4S0 540 0 540
O 8 H& &7 E=2 JUISAL AIZR2UY 50,000,000& = 1.08/100 540
A S¢ 22 JHIEAM 25,000 0 25,000
401 AlEHIL 204G 25,000 0 25,000
01 Al&HI 25,000 0 25,000
O RX sS4 =2 HUIS A AIEHI 250,000& = 100m 25,000
S4 ZEte| =2 EHISA 30,000 0 30,000
401 AlEHIL 204 30,000 0 30,000
01 AI&HI 29,676 0 29,676
O 24 ZBte] =2 FHISAH A& 29,676,000& = 14l 29,676
03 A& =0 324 0 324
O 24 Z8te] =2 FHIS At AIES0HYI 30,000,000& = 1.08/100 324
Fo AX0E E+2 ZHISA 50,000 0 50,000
401 A& HIL 204G 50,000 0 50,000
01 Al&HI 49,460 0 49,460
O R4 AX0tS 2 HHISAL Al&HI 49,460,000 * 14l 49,460
03 A& 540 0 540
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A AL
HH: solHmAAs
Sl B ==IH S A (el &)
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
O 24 dX0t2 82 ZUISAL AIE20 50,000,000& = 1.08/100 540
24 SHOIE =2 ZHISA 40,000 0 40,000
401 AlEHIL 204 40,000 0 40,000
01 Al&H| 39,568 39,568
O R4 SHOS =2 FHISAL Al&H| 39,568,000 * 14 39,568
03 A4S0 432 432
O 24 SHOE =2 FUISAL AIE20 40,000,000 = 1.08/100 432
= Brx A 546,000 46,000
s XY SZ2EYEIAM 30,000 0
401 AlEHIL 204 30,000 0
01 AI&HI 30,000 0
O &3 22 s2ZEIAL Al 100,000& = 300m 30,000
P&t S 2 EZ TS AL 30,000 10,000
401 AlEHIL 201 30,000 10,000
01 Al&HI 29,676 9,676
O &S gt S22 EIAL Al 29,676,000& = 14 29,676
03 A& =0 324 324
O &3 Bt SZEHS A Al 20| 30,000,000& = 1.08/100 324
SIIEAIE JHEANS 50,000 50,000
401 AlEHIL 204 50,000 50,000
01 Al&HI 50,000 50,000
O sIIBAIE JHEAS Al 5,000,000& * 105® 50,000
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SN AL D
Al sHE WY
Sl SeDIBtEY (B9 @2
S HH - S(BH) - HEAY - BE=2 Off &+ o4 aﬁiﬂgﬁ HRZ2
e NS SEEITA 25,000 0 25,000
401 A&HILLY 25,000 0 25,000
01 Al&d 25,000 0 25,000
O ¥2 SSH sS2EIIA 10,0002 * 250m 25,000
B2 Mol SREIBA 30,000 0 30,000
401 ASHILLOHI 30,000 0 30,000
01 Al&H| 30,000 0 30,000
O BE so| SZEIIA 10,0002 * 300m 30,000
YOI SRTYBA 30,000 0 30,000
401 AAHILLOY 30,000 0 30,000
01 Al&H| 30,000 0 30,000
O B4 AE SREFIA ALY 10,0002 * 300m 30,000
BN S SRTYBA 30,000 0 30,000
401 ASHILLOY 30,000 0 30,000
01 Al&H| 30,000 0 30,000
O B LE SREHBA ALY 10,0002 * 300m 30,000
e BZE S2EIBA 30,000 0 30,000
401 A&HILLOY 30,000 0 30,000
01 Al&H| 30,000 0 30,000
O BE S2EHBA ALY 10,0002 * 300m 30,000
S A4B-BHA SREFTA 35,000 0 35,000
401 AIZHILSTHYI 35,000 0 35,000
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SN ALD
HH: 50l
o9l S EY LRk
S HH - S(BH) - HEAY - BE=2 Off &+ o4 gg;ﬁ HRS
01 Al&H 35,000 0 35,000
O B4 4Z-BHY SREIFTA ALY 100,0002! * 350 35,000
Oy 42 ALEDIS SREETA 30,000 0 30,000
401 AlEHIZ 20| 30,000 0 30,000
01 Al&H 30,000 0 30,000
O o1 £22| AZ0IE S2EIIA AL 100,000 * 300m 30,000
BE S SREIZTA 35,000 0 35,000
401 AlEHIZ 2O 35,000 0 35,000
01 Al&H| 35,000 0 35,000
O ZE US SREHIA ALY 100,000 * 350 35,000
BE Y SRIIBA 40,000 0 40,000
401 AlEHIZ 2O 40,000 0 40,000
01 Al&H 39,568 0 39,568
O =B UE SRIHIA ALY 39,568,008 * 141 39,568
03 Al&SCH] 432 0 432
O =B U SREHIN ALY 40,000,0002 + 1.08/100 432
B MM S2RETYBA 40,000 0 40,000
401 AlEHIL 2O 40,000 0 40,000
01 Al&H| 40,000 0 40,000
O =B M4 SREHBA ALY 40,000,00021 * 14} 40,000
24O S2REHBA 24,000 0 24,000
401 AlEHIL 20| 24,000 0 24,000
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SN AE D
HH: 50l
Sl SeDIBtEY (5 &2
SH-EH . A(BH) - NRAY - BES Off &+ o4 gg;ﬁ; HRS
01 Al&H] 24,000 0 24,000
O 24 Lot S2EFHBA ALY 10,0002 * 240m 24,000
D4 BE S2EYTA 27,000 0 27,000
401 AlEHIZ 20| 27,000 0 27,000
01 Al&H] 27,000 0 27,000
O 2o YO S2RTFTA ALY 10,0008 * 270m 27,000
e o8 S2EITA 30,000 0 30,000
401 AlEHIZ 2O 30,000 0 30,000
01 Al&H] 29,676 0 29,676
O e o1 S2RTHIA ALY 29,676,000 * 14! 29,676
03 Al&=CHH] 324 0 324
O UY B S2EIHIBA AE20 30,000,000 * 1.08/100 304
B RN SZEYTA 30,000 0 30,000
401 AlEHIZ 20| 30,000 0 30,000
01 Al&H] 30,000 0 30,000
O B R S2EIBA 30,000,000 * 14! 30,000
CSYSPINBIETE T 50,000 50,000 0
22NE RRBL 50,000 50,000 0
401 AlEHIL 2O 50,000 50,000 0
01 Al&H] 50,000 50,000 0
O +2IAl8 |24 A& 5,000,002 + 10S 6 50,000
sEgY 2,432,000 2,209,000 223,000
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=M AT
HH: solAMA
CHel: SESSIY Chol 7 2
SA - E S (3) - HIRA 01l &k o e =2
=IHe s 1,910,000
& 28,000
= 494,000
=M= 22(<Hl) 56,000 57,000 A 1,000
< 28,000
= 28,000
401 AlEHI 20| 56,000 57,000 A 1,000
= 28,000
= 28,000
01 Al&HI 55,400 57,000 21,600
O S=M=X E5At 55,400,000& * 14l 55,400
= 27,400
i 28,000
03 AlZ=CHHI 600 0 600
O F==M=X ExAtg 600,000& * 14! 600
= 600
HEX R NES BZHL(ZE) 1,300,000 1,000,000 300,000
s 1,300,000
401 AlEHIL 204 1,300,000 1,000,000 300,000
s 1,300,000
01 A&l 1,207,440 928,800 278,640
O M&X+ XNEFEH) 1,207,440,000& = 14 1,207,440
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A A4
HH: solAMA
SHol: SES Y (29 @2
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
s 1,207,440
02 Zeltl 84,370 64,900 19,470
O MEXF NEFZELHEAY 22| 1,300,000,000& * 6.49% 84,370
s 84,370
03 AlE&=C0HHI 8,190 6,300 1,890
O MEXNF NE2ZHLAY Al LI 1,300,000,000& = 0.63% 8,190
s 8,190
23XF ARE EFHE(ZE) 836,000 1,000,000 A 164,000
as 418,000
i 418,000
401 AlEHI 20| 836,000 1,000,000 A 164,000
s 418,000
= 418,000
01 Al&HI 775,744 928,800 A 153,056
O 33KNF AAL=sEEFHLEAY 775,744 ,000& * 14 775,744
s 357,744
o 418,000
02 Zeltl 54,256 64,900 210,644
O 23N 2RI2sESFHEAMNY 2l 54,256,000& * 14l 54,256
s 54,256
03 AlZ=0HdI 6,000 6,300 A 300
O 227 2n2sESTHEMEY AILRUYI 6,000,000& = 14l 6,000
s 6,000
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SN AL D
Al sHR MY
oo sESAIN (B9 @2
S HH - S(BH) - HEAY - BE=2 Off &+ o4 aﬁiﬂgj HDnz2
S SN (RS) 240,000 152,000 88,000
= 192,000
2 48,000
401 ASHILLOY 240,000 152,000 88,000
= 192,000
2 48,000
01 Al&l 238,272 150,906 87,366
O B2 SLHLAL 238,272,0002 * 14 238,272
2 190,272
2 48,000
03 A& 1,728 1,094 634
O BHETHHI S4HLAY AL 2O 240,000,00020 * 0.72% 1,728
2 1,728
CWPIEESE 573,600 1,207,733 634,133
= 458,880
= 34,420
2 80,300
IANEARR HER(RS) 573,600 1,207,733 634,133
= 458,880
= 34,420
2 80,300
401 AIEHIL LTI 573,600 1,207,733 634,133
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SM: AL
Ha: SoAMHLG
©ol: SXJIBES (69 &2
SN EHH.C(E) - NHEAY - BYS Off &k o4 a%ggi; HRE2
401 AEEIL20H 2 458,880
= 34,420
2 80,300
01 Al&H| 569,500 1,203,385 633,885
O JIHSFIRZ HLFAY 569,500,000 * 14! 569,500
2 454,780
= 34,420
2 80,300
03 Al&SOH] 4,100 4,348 ~248
O JIHSBRZ HLFAY ALY 4,100,0008 * 14 4,100
2 4,100
2ole Fy| 35,710 411,642 375,932
2 28,568
= 2,143
2 4,999
2Ile MY (2S) 35,710 411,642 375,932
2 28,568
= 2,143
2 4,999
401 AEEIL20 35,710 411,642 375,932
2 28,568
= 2,143

_21_




SN 2AED
BE: oA Y s
ool wolut Fy| (el a R
- _ _ HUE &
SA-FB L SA(3) - MEAY - BLS 0 &2 e B2
401 Al&HI LS OHYI = 4,999
01 AI&HI 35,710 380,480 A344,770
O &EX 7 &IIeHEHIAY 35,710,000& = 14 35,710
[ 28,568
< 2,143
[ia 4,999
SHEMEESZ A 471,000 660,000 A 189,000
i 329,700
= 14,130
= 127,170
= N (2S) 471,000 660,000 A 189,000
s 329,700
= 14,130
= 127,170
401 Al&HI LY 471,000 660,000 A 189,000
s 329,700
= 14,130
= 127,170
01 AI&HI 467,700 655,248 187,548
O =3 WA 467,700,000& = 14l 467,700
[ 326,400
< 14,130
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SN ALD
BB S0l
Sl SO{EMBE AN LRk
- _ — HE &
SH-EH . A(BH) - NRAY - BES Off &+ o4 il it o HRS
= 127,170
03 Al&SCH] 3,300 4,752 A1,452
O B HLAY L2 3,300,008 * 14 3,300
2 3,300
NYE e HE 759,000 1,802,720 ~1,043,720
2 62,000
2 697,000
2 =T 635,000 1,602,720 A967,720
NE-2U 2E HEE 151,000 1,000,200 849,200
401 AlEHIZ O] 151,000 1,000,200 849,200
01 Al&H] 150,000 994,000 844,000
O MZ-282 2T ALY 150,000,008 * 142 150,000
03 Al&SCH] 1,000 6,200 5,200
O ME-282 2EHIE ALY 1,000,008 * 141 1,000
REo5H R HIF 484,000 0 484,000
401 AlEHIZ 2O 484,000 0 484,000
01 Al&H] 482,000 0 482,000
O 2% 254 ZEHEH Al 482,000,0008 * 172 482,000
03 Al&SCH] 2,000 0 2,000
O 25 254 2CHTH ALY 2,000,008 * 14 2,000
EEPE 124,000 200,000 A76,000
2 62,000
2 62,000
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S AL
I XYUE AL HEZ

ool MEHE (el @l
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
e s E SEEMSAE (2S) 124,000 0 124,000
s 62,000
= 62,000
401 Al&HI LRI 124,000 0 124,000
s 62,000
= 62,000
01 A&l 123,108 0 123,108
O UE JtatXE dEMHEAY A& 123,108,000 * 14! 123,108
s 61,554
fia 61,554
03 A& =20 892 0 892
O UY JIEXE dEMEAY S0l 240,000,000& * 0.3715% 892
s 446
= 446
ofd 2t 9,642,539 4,475,848 5,166,691
= 991,078
s 4,005,000
= 18,000
i 4,628,461
ot& E 3,896,539 1,438,848 2,457,691
2 991,078
s 720,000
= 2,185,461
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2N

=E 2|
=k Hl chol )
SN HE - SI(E) - NRAY - BES e =2
208 FANE= 300,000 270,000
401 Al&HI L2 OHYI 300,000 270,000
01 Al&H| 297,000 267,000
O 4otd FAE=HI(100H4, 2km) 297,000& * 1,000m 297,000
03 AlZ=CHYI 3,000 3,000
Egds2 5 20U 3,000,000& = 14 3,000
IEEEME(2S) 1,200,000 1,200,000
s 720,000
= 480,000
401 Al&HI LSO 1,200,000 1,200,000
s 720,000
= 480,000
01 A&l , 192,440 1,192,440
O oteE& Ay 1,192,440,000& = 14 , 192,440
s 715,464
i 476,976
03 Al£=C0HYI 7,560 7,560
St=ZE LAY 0] 1,200,000,000& * 0.63/100 7,560
s 4,536
i 3,024
A0t HHIAMZ(ZH)(=5) 1,982,156 773,308
= 991,078
i 991,078
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SA: AL
Hu: sl
cHel: GHE R G
SA B EA(E) - NRAY - B2 0 & o4 e HlRE2
401 AlZHIZ Y] 1,982,156 1,208,848 773,308
=2 991,078
2 991,078
01 Al&H 1,975,020 1,204,496 770,524
O ABIEEHIA (3 4) 1,975,020,0002 * 14! 1,975,020
= 987,510
- 987,510
03 Al&S0il 7,136 4,352 2,784
O ASHEFHIAIY 204l 1,982,156,0002 * 0.36/100 7.136
= 3,568
2 3,568
A5t HH| 414,383 0 414,383
401 AlZHIL Y] 414,383 0 414,383
01 Al&H 399,383 0 399,383
O &= ol AdtdE = 1,002,87521 * 133m 133,383
O A+ OHE ABHEFH| 133,000,0008!  * 14! 133,000
O e 2at Aot EH| 133,000,0008! * 14! 133,000
03 Al&=0il 15,000 0 15,000
O LHEI} L NRESZ242 5,000,0002 * 304 * 1Al 15,000
Matolg ¢ =3 5,746,000 2,229,000 3,517,000
2 3,285,000
[ 18,000
2 2,443,000
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= oy
B
2 i i

e
yo
It
4

m
0
F]
o

SN EY O (BH) - MR - Ba= 01l &k o e =2t

Mol 82 5+ 100,000 49,000 51,000
401 AlEHIL 2048l 100,000 49,000 51,000
01 A&l 100,000 48,000 52,000

O MaiEes=+ A&l 10,000,000& = 1090 4 100,000
Mo X7 bl 48,000 49,000 A 1,000
401 Al&EHIL204bI 48,000 49,000 21,000
01 Al&H| 48,000 48,000 0

O Mo E X REHIALS Al&HI 24,000,000& * 20f A 48,000
ENE &4 50,000 49,000 1,000
401 Al&EHIL204bI 50,000 49,000 1,000
01 Al&H| 50,000 48,000 2,000

O E&BE Z4AMY A& 5,000,000& * 10=™ 50,000
=N E= 5,000 0 5,000
302 OI=ZL o2 &= 5,000 0 5,000
02 BIZIRITHOH 2 &3 5,000 0 5,000

O M:eXI&= 5,000,000& = 1 5,000
IIIotE (B ) |A 22l 12,000 30,000 A 18,000
401 AlEHIL 2040l 12,000 30,000 A 18,000
01 Al&HI 12,000 30,000 218,000

O 8ad =1 ¥ HeSHol &g 3,000,000& = 43| 12,000
HHKAEXNR(EHA)FU(ZE) 2,000,000 1,400,000 600,000

s 1,200,000
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FA:
X XH -
o Tt

ool

24
ot 2el
Moo & ==

m
Y

P
o

SN HE - SI(E) - NRAY - BES o S =2
Of & o

MHHA X A(EAH)HEI(ZE) = 800,000

401 Al&HI L2 OHYI 2,000,000 1,400,000 600,000
s 1,200,000
= 800,000

01 A&l 1,992,800 1,394,960 597,840
O MoK (EAHA)ZHIAMS 1,992,800,000& = 14l 1,992,800
Fas 1,195,680
s 797,120

03 AlZ=CHYI 7,200 5,040 2,160
O MK (EHA)HEBIAY 208l 2,000,000,000& * 0.36/100 7,200
s 4,320
[ 2,880

RS X R (L) HE(ZE) 1,475,000 525,000 950,000
s 885,000
i 590,000

401 Al&HI L2 OHYI 1,475,000 525,000 950,000
s 885,000
= 590,000

01 Al&H| 1,465,560 521,692 943,868
O THHRIE X7 (&HAHE ) ZHI ALY 1,465,560,000& * 14 1,465,560
s 879,336
i 586,224

03 A& =0 9,440 3,308 6,132
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A A4
2 ot 2tel
ool TEHolY W =7 (el m el
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
O MK 2 (AAA)TEIAIY 20U 1,475,000,000& *0.64/100 9,440
s 5,664
o 3,776
CEiAE BUIAIS (Z8]) 10,000 0 10,000
& 5,000
= 5,000
401 AlEHIZ 20| 10,000 0 10,000
= 5,000
= 5,000
01 AI&HI 10,000 0 10,000
CSHi=AIE HUIAS 10,000,000& * 14 10,000
== 5,000
i 5,000
SHEJISEM &Hl & E=SHH(ZLI) 26,000 0 26,000
= 13,000
= 13,000
401 Al&EHIL 208l 26,000 0 26,000
& 13,000
= 13,000
01 A&l 26,000 0 26,000
O ot&EJIEH ¥ E=HAAL 26,000,000& * 14 26,000
& 13,000
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A A4
2 ot 2tel
chel TalolE @ =3 chol &
CERI(BIH) - NIRAY - A S Akl e =
i 13,000
SrolEEs 20,000 0 20,000
307 gIz2told 20,000 0 20,000
06 2&= 20,000 0 20,000
O 3=l B 20,000,000& *» 14 20,000
MHAAEXNR(AS) 2,000,000 0 2,000,000
s 1,200,000
= 800,000
401 AIEHIZ= 2,000,000 0 2,000,000
s 1,200,000
= 800,000
01 Al&HI 1,992,800 0 1,992,800
O 2SLTHAIE Ot 1,992,800,000& * 14| 1,992,800
= 1,195,680
o 797,120
03 Al&=CHYI 7,200 0 7,200
O 2SYHAEISZEAMY 2,000,000,000& * 0.36/100 7,200
s 4,320
o 2,880
S22 AIE 22 3,435,000 2,600,740 834,260
sHERZZ &2 2,875,000 1,836,600 1,038,400
24 220 MAEZ2 M 272,000 0 272,000
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A AL
F: T2AE2Z

ol S0ECE HEE (el @l
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2

401 Al&EHIYL 2048l 272,000 0 272,000
01 Al&HI 270,000 0 270,000

O 24 2F0 JAE=Z WS AL AIE Y] 270,000,000& = 1Jf A 270,000
03 Al&=CHYI 2,000 0 2,000

O 248 20 MAEZ S A AIE 20| 2,000,000& * 14! 2,000
=&, sHEZZIHEAMS 24| 150,000 0 150,000
401 AlEHIZ 2 OHY] 150,000 0 150,000
01 Al&HI 150,000 0 150,000

O SZ2HEAY 24 150,000, 000& * 1Jf 24 150,000
HE MNLU~FHST2 JNUAEZ2 HESA 200,000 0 200,000
401 Al&EHIL 208 200,000 0 200,000
01 Al&HI 200,000 0 200,000

O & MNMEM-FHSZT2H JLEZ AL 200,000,000& * 1Jf A 200,000
A8 QUYL SHEESZ SHEESA 350,000 0 350,000
401 Al&EHIL 2048 350,000 0 350,000
01 Al&Hl 350,000 0 350,000

s oMt SHEEZRZ HYERX Y 350,000,000& * 1JH A 350,000
2o SE207sd EEE 374,000 0 374,000
401 Al&EHIL 2Bl 374,000 0 374,000
01 Al&H| 370,000 0 370,000

O 24 220756 S EH AL 370,000,000& * 1JHA 370,000
03 AlZ=C0HYI 4,000 0 4,000

O 2t s22073 6 =L E AL 4,000,000& * 14! 4,000
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A AL
M CZAE2e

o9l =0EER HEE (=CREY
SN HE - SI(E) - NRAY - BES e =2

& S22025 6 o= RS A 806,000 0 806,000
401 Al&HI L2 OHYI 806,000 0 806,000
01 Al&H| 800,000 0 800,000

O g& s22025 6 s& sol=73 A Al &Y 800,000,000& = 800,000
03 Al&=C0HYI 6,000 0 6,000

O g& s22025 6 =5 o= 3 A AIE R 6,000,000 * 14 6,000
ol &l M= AEEZ HEAMS 423,000 0 423,000
401 Al&HI L2 OHYI 423,000 0 423,000
01 Al&HI 420,000 0 420,000

O 38 A= ASEE=2 HEAY A& 420,000,000& =* 420,000
03 A4 =0 3,000 0 3,000

O & &= AEE=Z WA Al 2] 3,000,000& = 14 3,000
= o E~HH2E MY EZ ALY 300,000 0 300,000
401 Al&HI L2 OHYI 300,000 0 300,000
01 Al&Hl 300,000 0 300,000

O &s &E~-HM2t JLEZ AIEHI 300,000,000& = 300,000
= e 560,000 764,140 A 204,140
= RAES A 304,000 501,800 A 197,800
401 Al&HIL=SOHYI 304,000 501,800 A 197,800
01 Al&H| 301,600 500,000 198,400

O =& RANE=AY AIEHI 301,600,000& * 14l 301,600
03 AlZ=C0HYI 2,400 1,800 600

O 2% |RNE=AE AIZ2UYI 800,000 * 34! 2,400
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FA:
X XH -
o Tt

ool

24

C2AE 2

CERANES

A

m

40
o
{0

SN HE - SI(E) - NRAY - BES &k oy e =2

ASSXNE X E FHIALY 46,000 50,540 24,540
401 Al&HI L2 OHYI 46,000 50,540 24,540
01 Al&H| 45,000 50,000 25,000

O WHEHXE X & FHHIAY A& 45,000,000& * 1JH2 45,000
03 AlZ=C0HYI 1,000 540 460

O HEEXNNE ZX & ZHIAIY AIZR04H] 1,000,000& * 14 1,000
S2HEAH &X Y HUAY 101,000 100,900 100
401 Al&HI L2 OHYI 101,000 100,900 100
01 Al&HI 100,000 100,000 0

O E2HEXE X & FHHIAY A& 25,000,000 * 4042 100,000
03 A4 =0 1,000 900 100

O E2EXE £X & ZHIAIY AIZR0Hd] 250,000& = 44 1,000
E2ELTMH Y 9,000 10,000 A 1,000
401 Al&HI L2 OHYI 9,000 0 9,000
01 Al&Hl 9,000 0 9,000

O E28= 7Y AlLHI 9,000,000& * 14 9,000
SERH(ZE, sHEZZ) EHIDI MY 50,000 0 50,000
401 Al&HI L2 OHYI 50,000 0 50,000
01 Al&HI 50,000 0 50,000

O E2¥ 24Dl At AlEHI 50,000,000& * 14 50,000
T2H A2 A 50,000 0 50,000
401 Al&HI L2 OHYI 50,000 0 50,000
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FA:
X XH -
o Tt

ool

24
CZAIE 2
CERANES

[
0
e
0

SA-EH-SRABA) - NEAMNY - BES Off &F K gggf; HwsZ
01 Al<HI 50,000 0 50,000
O T=2¥ AM2R4 A& 10,000,000 = 5JH A 50,000
FoFXIoH e 2,777,000 2,256,000 521,000
s 2,032,000
= 16,950
= 728,050
X 1,877,000 2,156,000 A279,000
s 1,312,000
= 16,950
= 548,050
SHISAMEIBHLISAH(ZE) 146,000 0 146,000
s 102,000
S 1,320
s 42,680
401 Al HI LS HHI 146,000 0 146,000
[ 102,000
S 1,320
= 42,680
01 Al&HI 145,474 0 145,474
O SEEsAEDIEEEl AFH Al 111,903& = 1,300m 145,474
Fas 101,633
S 1,315
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A AL
D FHEXoR

el QXN (&2 8
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2

i 42,526

03 Al&=CHYI 526 0 526
O SEISAEIBEE Al HE Ul 146,000,000& = 0.36% 526
s 367
= 5
i 154

S X2 LN BAH(DE) 292,000 0 292,000
s 204,000
& 2,640
= 85,360

401 Al&EHIL204bI 292,000 0 292,000
s 204,000
= 2,640
= 85,360

01 Al&HI 290,949 0 290,949
O SIS =2 & X At Al HI 223,806.5% * 1,300m 290,949
iy 203,265
= 2,608
o 85,076

03 AlE=C0HYI 1,051 0 1,051
O SHSIEX =2 & X A& [E Sl 292,000,000& = 0.3596% 1,051
s 735
& 32
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A AL
D FHEXoR

& XY CEREE
SH-EH . O(E) - MBAY - B of Ao S HRS2
= 284
SEASAEIIBUHHIZBAHES) 292,000 0 292,000
g 204,000
& 2,640
o 85,360
401 AIEHIZ2Ub] 292,000 0 292,000
g 204,000
& 2,640
o 85,360
01 Al&H| 290,949 0 290,949
O SSYsAAED|EHEH|] AFY Al &b 193,966& * 1,500m 290,949
iy 203,265
= 2,635
o 85,049
03 A&y 1,051 0 1,051
O FEYGsAIAD|BLEHl Al HE 20| 292,000,000& * 0.3596% 1,051
g 735
T 5
= 311
HSASAIED|BHEHI AR Z2AHES) 271,000 0 271,000
190,000
== 2,430
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A AL
D FHEXoR

& XY CEREE
SN UA(SA) - MBAIY - BES Off &k o (ﬁg;ﬁ; Hnz2
HEHSAILIBHHLXBAHDS) - 78,570
401 AlEHIYL =Yl 271,000 0 271,000
z 190,000
= 2,430
= 78,570
01 A&l 270,024 0 270,024
O HWSYS AL ZX A AR 270,024,000 * 14! 270,024
= 189,315
= 2,401
z 78,308
03 Al&=CHHI 976 0 976
O HESYSALINUHY AU TGE 2yl 271,000,00081 * 0.36% 976
= 685
= 29
= 262
ST X A AIIBIAIE B AR S) 219,000 0 219,000
z 153,000
= 1,980
= 64,020
401 Al&HIYL =Yl 219,000 0 219,000
7 153,000
3 1,980
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A AL
D FHEXoR

el QXY (&te &=
A -H2A(EAH) - MY - BES Ol AF o4 gigﬁ; =2
401 AlEHIY RO = 64,020
01 Al&H] 218,212 0 218,212
O SHR XM A BHAI & S A 218,212,000 » 14 218,212
z 152,448
< 1,956
= 63,808
03 Al&=0idl 788 0 788
O SHRCHXI M A BEAIE S AF 201 219,000,000 * 0.3596% 788
z 552
[ 24
i 212
MOERCHTMADIBIAI S BAHZS) 219,000 0 219,000
z 153,000
< 1,980
= 64,020
401 AlEHIYL 20 219,000 0 219,000
z 153,000
< 1,980
= 64,020
01 Al&H] 218,212 0 218,212
O Aok CHX| A AT BEAI S S AL 218,212,000 * 14 218,212
z 152,448
[= 1,956
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A AL
D FHEXoR

& XY CEREE
SA-ZBH-SA(SAH) - NRAY - BE= Of] AF K %ggﬁ HlwS2

= 63,808

03 AIZ=0ibI 788 0 788
O MOorxCX|MAD|BFAIE S AL 201 219,000,000 * 0.3596% 788
s 552
= 24
i 212

LIS E SR MADBIAIESAHZS) 219,000 0 219,000
= 153,000
< 1,980
= 64,020

401 AlEHIZ LYl 219,000 0 219,000
= 153,000
[ 1,980
= 64,020

01 A&t 218,212 0 218,212
O EII3tsll & XA BHAIE S AL 218,212,000& * 14 218,212
= 152,448
[ 1,956
= 63,808

03 A& 788 0 788
O ZIISESXI M AD|BEAIE S AL O8I 219,000,000 * 0.3596% 788
s 552
< 24
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A A4
Ba: Forx
el @XNY oo dA
SN EY O (BH) - MR - Ba= Aol e =2t
= 212
SR MAD|BIAIE S AHZE) 219,000 219,000
s 153,000
& 1,980
i 64,020
401 Al YISO 219,000 219,000
s 153,000
& 1,980
= 64,020
01 Al&H| 218,212 218,212
O ESHEXIMADBEAIE S AL 218,212,000& * 14 218,212
s 152,448
& 1,956
i 63,808
03 Al&=CHYI 788 788
O SStHXIMAD|BAIL S A 20HYI 219,000,000& * 0.3596% 788
s 552
= 24
= 212
MdR0E2 &4 900,000 800,000
s 720,000
= 180,000
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SN AL D
M F RN
ol MRS E4 (

= el H el
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
otk 2 MAMSZHMA(ZE) 900,000 100,000 800,000
s 720,000
= 180,000
403 XXM SK=20IH 900,000 0 900,000
s 720,000
i 180,000
02 3J/2S0ICHSHCH& AL I 900,000 0 900,000
O ¢y =32 HI0tSE AFS AL I 900,000,000& & * 14 900,000
s 720,000
i 180,000
HY2AZL (AL) 167,930 150, 126 17,804
& 56,105
= 111,825
Jl23dl 107,625 94,021 13,604
JI2&Hl / A8 E 34,622 36,521 A 1,899
201 LBH24| 26,222 25,821 401
01 At 2teld] 22,910 22,941 A31
O MRES & 72 300,000& = 123] 3,600
O SMEX 7 15,000& * 2008 A 3,000
O ZgH EY 7 200,000 *5J *33| 3,000
O ZgHy &g 2 350,000 * 300 * 13 1,050
O =AD& #Y 200,000 * 694 1,200
O SAD &g 2Y 300,000& * 23| 600
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AN A&
B SESAAH (AL
Sl JI234| CHe
9l (31) - of . Bl Atol e =32t
O EAHD|, TZgly A2E 2 200,000& = 53] 1,000
ONER=EZ 12,000 = 155 x 12& 2,160
O HEHE= 1,350
- ZE 3,000& * 128 36
— QI3H5 * 7) 1,500& * 876& 1,314
O =&l 7,000& * 7Y « 100 4,900
O HAIZ2 E ol 150,000& = 33 450
O Alot=2d s 84 100,000& * 63 600
02 3294l 3,312 2,880 432
O dBtNG 2 150,000& = 128 1,800
O dEMS 3102 40,000& = 12& 480
O EXBA SDI2 1,720& * 600 1,032
202 O4d] 8,400 7,200 1,200
01 =UWHbI 8,400 7,200 1,200
O =ZWHo| 20,000& * 7 x 5H x 12& 8,400
Jl2ddl /| sgo|et 14,600 12,800 1,800
201 B2 HH| 14,600 12,800 1,800
01 AtR2t2ld| 11,000 11,800 A800
O AMNRESE 7 100,000& * 33| 300
O SBAEX 2¢ 15,000& *» 30=2+A 450
O Zgy EH 2 200,000& = 10H = 43 800
O ZEH, "Zgify A2EE 2 300,000& = 43| 1,200
O =&l 7,000& * 5% x 150 5,250
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SHM: A4
NI HY2AAH(ALD)
cel: J|=3A (el &2
A -H2A(EAH) - MY - BES Ofl &F 2K a%ggi; Hlns2t
O EW=Y 350,000 * 54 1,750
O 237y 50,0008 * 24 100
O =& 7,000 * 4% » 82 « 12€ 2,688
202 01| 4,000 0 4,000
01 2ot 4,000 0 4,000
O ol 20,0002 * 4% x 503 4,000
ol Ayl 60,305 56,105 4,200
[ 56,105
z 4,200
ol 29| 4,200 56,105 A51,905
203 LR FZAH 4,200 0 4,200
04 BPARILSZAY 4,200 0 4,200
O BARY 2| 350,000 * 12& 4,200
Ol 2AH|($2H) 56,105 0 56,105
< 56,105
101 o124l 56,105 0 56,105
[ 56,105
09 RIHA2ZXE+ 56,105 0 56,105
O &2 NES 22 56,105
- J|=3 42,9108 * 29 = 260 22,314
[ 22,314
- A03 22,314,000 * 4/12 7,438
[ 7,438




AN A&
Hu: #ESAAY (AL
el ol oyl CCR-ED
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
- d24 929,700& * 2¥H * 200% 3,719
T 3,719
— Jhat 2 42 9102 = 29 x 2602 * 10/100 2,232
T 2,232
— Y& S| 1,115,640& = 2 x 60/100 * 23] 2,678
o= 2,678
— AZEXH| 70,000& * 294 x 12& 1,680
= 1,680
— HHZAH| 130,000& = 29 = 128 3,120
== 3,120
— WEE2 XY 120,000 * 2 * 128 2,880
== 2,880
- g=< 40,000& * 29 = 128 960
T 960
- FE2Y 42 910 * 29 » Hh2L 4,463
T 4,463
— A2t 6,1223 » 28 = 12A12t = 12& 1,764
o= 1,764
— HIIE A 774,750 = 29 * 11/24 711
& 71
— JEXMRIFIIE 42,910& * 298 x 25 2,146
o= 2,146
HEEs 145,000 170,000 N 25,000
RS PNES 145,000 170,000 A 25,000
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2M: A8
HE: RES
& BEXE CEREE
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
FEL Mitd = 348 100,000 100,000 0
601 XSS ats 100,000 100,000 0
05 NSS4 100,000 100,000 0
O 5w MItE Xtz 34 25,000,000& * 43| 100,000
Zsuw MWotd X3 Ol Rhake 45,000 70,000 225,000
311 XL SO0l Xtae 45,000 70,000 A25,000
05 XSOl Atatet 45,000 70,000 225,000
O s MItd XY= Ol Kt&tE 11,250,000& * 43| 45,000
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